

MATERIALS MANAGEMENT DEPARTMENT

101 OLD VENICE ROAD

OSPREY, FLORIDA 34229

TELEPHONE (941) 486-2183

FAX (941) 486-2188

MEMORANDUM

TO: Members of the School Board

Lori White, Superintendent

Mitsi Corcoran, Chief Financial Officer

FROM: Pat Black, CPPB, Director of Materials Management

TITLE: APPROVAL TO AWARD BID #0534 FOR FIRE SPRINKLER SYSTEM

AND FIRE HYDRANT INSPECTION AND REPAIR

Bids to provide 'Fire Sprinkler System and Fire Hydrant Inspection and Repair' were received from nine vendors on March 2, 2010. The bid of Piper Fire Protection, Inc., was the best low bid meeting the advertised specifications. This bid is for a period of one year with the option to renew for two additional one-year periods. The funds for these purchases are contained in the capital budget allocated to the Facilities Services Department.

Requested by: Jody Dumas

"Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, or failure to post the protest bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120. Florida Statutes."

Posting Date: 03-30-10

Not to exceed

Fiscal Impact: \$75,000.00

Funding: Capital

Recommended Motion: That the bid of Piper Fire Protection, Inc., to provide 'Fire Sprinkler System and Fire Hydrant Inspection and Repair' in an amount not to exceed \$75,000.00, be approved for award and purchase.

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests	ests Alert Fire Sprinklers, Inc.						Allia	ance Fire & S	Safety	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
1	Ashton EI 5110 Ashton Rd Sarasota 34233	Mech Rm 154-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
2	Atwater EI 4701 Huntsville Ave North Port 34288	Location to be determined- 4 risers	\$96.50	x 4 = riser	\$386.00	x12=	\$4,632.00	\$50.00	x 4 = riser	\$200.00	x12=	\$2,400.00
3	Bay Haven 2901 W Tamiami Cir Sarasota 34234	Bldg 7-Rm 101-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
4	Booker High	Bldg 37-Rm 005-1 riser	\$96.50	x 2 = riser	\$193.00			\$50.00	x 2 = riser	\$100.00		
	3201 N Orange Ave Sarasota 34234	Bldg 1-Rm 102-1 riser Bldg 38-Pump Rm-1 fire pump	\$200.00	x 1 = pump	\$200.00	x12=	\$4,716.00	\$50.00	x 1 = pump	\$50.00	x12=	\$1,800.00
5	Booker Middle 250 Myrtle St Sarasota 34234	Bldg 3-Rm 307A, Stage- 1 riser Bldg 14-1 riser	\$96.50	x 2 = riser	\$193.00	x12=	\$2,316.00	\$50.00	x 2 = riser	\$100.00	x12=	\$1,200.00
6	Emma E. Booker 2350 Dr MLK Jr Way Sarasota 34234	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$96.50	x 5 = risers	\$482.50	x12=	\$5,790.00	\$50.00	x 5 = risers	\$250.00	x12=	\$3,000.00
7	Brentwood EI 2500 Vinson Ave Sarasota 34232	Bldg 2-Rm 115B-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
8	Brookside Middle 3636 S Shade Ave Sarasota 34239	Bldg 9-Rm 108-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
9	Cranberry El 2775 Shalimar Terr North Port 34286	Custodial Ofc-Rm 129- 3 risers	\$96.50	x 3 = risers	\$289.50	x12=	\$3,474.00	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Aqua	Safe Fire P	rotection			Bab	e's Plumbin	g, Inc.	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
1	Ashton El 5110 Ashton Rd Sarasota 34233	Mech Rm 154-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
2	Atwater El 4701 Huntsville Ave North Port 34288	Location to be determined- 4 risers	\$80.00	x 4 = riser	\$320.00	x12=	\$3,840.00	\$22.92	x 4 = riser	\$91.68	x12=	\$1,100.16
3	Bay Haven 2901 W Tamiami Cir Sarasota 34234	Bldg 7-Rm 101-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
4	Booker High	Bldg 37-Rm 005-1 riser	\$80.00	x 2 = riser	\$160.00			\$33.33	x 2 = riser	\$66.66	x12=	\$799.92
	3201 N Orange Ave Sarasota 34234	Bldg 1-Rm 102-1 riser Bldg 38-Pump Rm-1 fire pump	\$150.00	x 1 = pump	\$150.00	x12=	\$3,720.00	\$400.00	x 1 = pump	\$400.00	annual cost of pump	\$400.00
5	Booker Middle 250 Myrtle St Sarasota 34234	Bldg 3-Rm 307A, Stage- 1 riser Bldg 14-1 riser	\$80.00	x 2 = riser	\$160.00	x12=	\$1,920.00	\$33.33	x 2 = riser	\$66.66	x12=	\$799.92
6	Emma E. Booker 2350 Dr MLK Jr Way Sarasota 34234	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$80.00	x 5 = risers	\$400.00	x12=	\$4,800.00	\$20.00	x 5 = risers	\$100.00	x12=	\$1,200.00
7	Brentwood EI 2500 Vinson Ave Sarasota 34232	Bldg 2-Rm 115B-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
8	Brookside Middle 3636 S Shade Ave Sarasota 34239	Bldg 9-Rm 108-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
9	Cranberry El 2775 Shalimar Terr North Port 34286	Custodial Ofc-Rm 129- 3 risers	\$80.00	x 3 = risers	\$240.00	x12=	\$2,880.00	\$25.00	x 3 = risers	\$75.00	x12=	\$900.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Code Re	ed Fire Prote	ection, In	C.	Со	mmercial F	Fire & Comn	nunicatio	ns, Inc.
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
1	Ashton EI 5110 Ashton Rd Sarasota 34233	Mech Rm 154-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
2	Atwater EI 4701 Huntsville Ave North Port 34288	Location to be determined- 4 risers	\$50.00	x 4 = riser	\$200.00	x12=	\$2,400.00	\$110.00	x 4 = riser	\$440.00	x12=	\$5,280.00
3	Bay Haven 2901 W Tamiami Cir Sarasota 34234	Bldg 7-Rm 101-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
4	Booker High	Bldg 37-Rm 005-1 riser	\$45.00	x 2 = riser	\$90.00			\$110.00	x 2 = riser	\$220.00	v12-	
	3201 N Orange Ave Sarasota 34234	Bldg 1-Rm 102-1 riser Bldg 38-Pump Rm-1 fire pump	\$85.00	x 1 = pump	\$85.00	x12=	\$2,100.00	\$115.00	x 1 = pump	\$115.00	x12=	\$4,020.00
5	Booker Middle 250 Myrtle St Sarasota 34234	Bldg 3-Rm 307A, Stage- 1 riser Bldg 14-1 riser	\$70.00	x 2 = riser	\$140.00	x12=	\$1,680.00	\$110.00	x 2 = riser	\$220.00	x12=	\$2,640.00
6	Emma E. Booker 2350 Dr MLK Jr Way Sarasota 34234	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$40.00	x 5 = risers	\$200.00	x12=	\$2,400.00	\$110.00	x 5 = risers	\$550.00	x12=	\$6,600.00
7	Brentwood EI 2500 Vinson Ave Sarasota 34232	Bldg 2-Rm 115B-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
8	Brookside Middle 3636 S Shade Ave Sarasota 34239	Bldg 9-Rm 108-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
9	Cranberry El 2775 Shalimar Terr North Port 34286	Custodial Ofc-Rm 129- 3 risers	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00	\$110.00	x 3 = risers	\$330.00	x12=	\$3,960.00

includ		of Fire Sprinkler Systems, d annual inspections and tests		Dolphir	n Fire Sprin	klers, Inc.			Piper F	rire Protec	tion, Inc	c.
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
1	Ashton El 5110 Ashton Rd Sarasota 34233	Mech Rm 154-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$51.75	x 1 = riser	\$51.75	x12=	\$621.00
2	Atwater EI 4701 Huntsville Ave North Port 34288	Location to be determined- 4 risers	\$38.00	x 4 = riser	\$152.00	x12=	\$1,824.00	\$12.83	x 4 = riser	\$51.32	x12=	\$615.84
3	Bay Haven 2901 W Tamiami Cir Sarasota 34234	Bldg 7-Rm 101-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$51.75	x 1 = riser	\$51.75	x12=	\$621.00
4	Booker High	Bldg 37-Rm 005-1 riser	\$59.00	x 2 = riser	\$118.00	x12=	\$1,416.00	\$25.42	x 2 = riser	\$50.84		
	3201 N Orange Ave Sarasota 34234	Bldg 1-Rm 102-1 riser Bldg 38-Pump Rm-1 fire pump	\$300.00	x 1 = pump	\$300.00	annual cost of pump	\$300.00	\$16.67	x 1 = pump	\$16.67	x12=	\$810.12
5	Booker Middle 250 Myrtle St Sarasota 34234	Bldg 3-Rm 307A, Stage- 1 riser Bldg 14-1 riser	\$59.00	x 2 = riser	\$118.00	x12=	\$1,416.00	\$25.88	x 2 = riser	\$51.76	x12=	\$621.12
6	Emma E. Booker 2350 Dr MLK Jr Way Sarasota 34234	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$32.00	x 5 = risers	\$160.00	x12=	\$1,920.00	\$17.94	x 5 = risers	\$89.70	x12=	\$1,076.40
7	Brentwood EI 2500 Vinson Ave Sarasota 34232	Bldg 2-Rm 115B-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$43.31	x 1 = riser	\$43.31	x12=	\$519.72
8	Brookside Middle 3636 S Shade Ave Sarasota 34239	Bldg 9-Rm 108-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$51.75	x 1 = riser	\$51.75	x12=	\$621.00
9	Cranberry El 2775 Shalimar Terr North Port 34286	Custodial Ofc-Rm 129- 3 risers	\$43.00	x 3 = risers	\$129.00	x12=	\$1,548.00	\$17.12	x 3 = risers	\$51.36	x12=	\$616.32

includ		of Fire Sprinkler Systems, d annual inspections and tests		S	SimplexGrin	nell	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
1	Ashton El 5110 Ashton Rd Sarasota 34233	Mech Rm 154-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
2	Atwater EI 4701 Huntsville Ave North Port 34288	Location to be determined- 4 risers	\$28.50	x 4 = riser	\$114.00	x12=	\$1,368.00
3	Bay Haven 2901 W Tamiami Cir Sarasota 34234	Bldg 7-Rm 101-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
4	Booker High Bldg 37-Rm 005-1 riser		\$28.50	x 2 = riser	\$57.00		
	3201 N Orange Ave Sarasota 34234	Bldg 1-Rm 102-1 riser Bldg 38-Pump Rm-1 fire pump	\$19.00	x 1 = pump	\$19.00	x12=	\$912.00
5	Booker Middle 250 Myrtle St Sarasota 34234	Bldg 3-Rm 307A, Stage- 1 riser Bldg 14-1 riser	\$28.50	x 2 = riser	\$57.00	x12=	\$684.00
6	Emma E. Booker 2350 Dr MLK Jr Way Sarasota 34234	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$28.50	x 5 = risers	\$142.50	x12=	\$1,710.00
7	Brentwood EI 2500 Vinson Ave Sarasota 34232	Bldg 2-Rm 115B-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
8	Brookside Middle 3636 S Shade Ave Sarasota 34239	Bldg 9-Rm 108-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
9	Cranberry El 2775 Shalimar Terr North Port 34286	Custodial Ofc-Rm 129- 3 risers	\$28.50	x 3 = risers	\$85.50	x12=	\$1,026.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ	•	of Fire Sprinkler Systems, d annual inspections and tests		Alert	Fire Sprinkle	ers, Inc.			Allia	ince Fire &	Safety	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
10	Englewood El 150 N McCall Rd Englewood 34223	Bldg 8-Rm 001F-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
11	Facilities Services 7889 Fruitville Rd Sarasota 34240	Bldg 1-Rm 126, Shops- 1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
12	Fruitville EI 601 Honore Ave Sarasota 34232	Bldg 9-Rm 120A-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
13	Garden EI 700 Center Rd Venice 34292	Bldg 1-Rms 150, 151, 152, 155-1 riser Bldg 4-Outside Rm 109, Rm 109D-1 riser	\$96.50	x 2 = riser	\$193.00	x12=	\$2,316.00	\$50.00	x 2 = riser	\$100.00	x12=	\$1,200.00
14	Glenallen El 7050 Glenallen Blvd North Port 34287	Rm 814-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
15	Gocio El 3450 Gocio Rd Sarasota 34235	Bldg 5-Rm 003C, Stage- 1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
16	Gulf Gate El 6500 S Lockwood Ridge Rd Sarasota 34231	Bldg 1-Rms 187C, 180C -1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
17	Heron Creek Middle 6501 W Price Blvd North Port 34286	Bldg 3-Rm 107-1 riser Bldg 4-Rm 100H-1 riser Bldg 5-Rm 100H-1 riser	\$96.50	x 3 = risers	\$289.50	x12=	\$3,474.00	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00
18	Lamarque El 3415 Lamarque Ave North Port 34286	Bldg 1-Rm 132-3 risers	\$96.50	x 3 = risers	\$289.50	x12=	\$3,474.00	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00
19	Laurel Nokomis 900 E Laurel Rd Nokomis 34275	Bldg 3-Rm 307-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ	de cost for 12 inspections ling monthly, quarterly and FPA 25 Standards.	of Fire Sprinkler Systems, d annual inspections and tests	ests Aqua Safe Fire Protection						Bab	e's Plumbin	g, Inc.	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
10	Englewood El 150 N McCall Rd Englewood 34223	Bldg 8-Rm 001F-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
11	Facilities Services 7889 Fruitville Rd Sarasota 34240	Bldg 1-Rm 126, Shops- 1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
12	Fruitville EI 601 Honore Ave Sarasota 34232	Bldg 9-Rm 120A-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
13	Garden EI 700 Center Rd Venice 34292	Bldg 1-Rms 150, 151, 152, 155-1 riser Bldg 4-Outside Rm 109, Rm 109D-1 riser	\$80.00	x 2 = riser	\$160.00	x12=	\$1,920.00	\$33.33	x 2 = riser	\$66.66	x12=	\$799.92
14	Glenallen El 7050 Glenallen Blvd North Port 34287	Rm 814-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
15	Gocio El 3450 Gocio Rd Sarasota 34235	Bldg 5-Rm 003C, Stage- 1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
16	Gulf Gate EI 6500 S Lockwood Ridge Rd Sarasota 34231	Bldg 1-Rms 187C, 180C -1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
17	Heron Creek Middle 6501 W Price Blvd North Port 34286	Bldg 3-Rm 107-1 riser Bldg 4-Rm 100H-1 riser Bldg 5-Rm 100H-1 riser	\$80.00	x 3 = risers	\$240.00	x12=	\$2,880.00	\$25.00	x 3 = risers	\$75.00	x12=	\$900.00
18	Lamarque El 3415 Lamarque Ave North Port 34286	Bldg 1-Rm 132-3 risers	\$80.00	x 3 = risers	\$240.00	x12=	\$2,880.00	\$25.00	x 3 = risers	\$75.00	x12=	\$900.00
19	Laurel Nokomis 900 E Laurel Rd Nokomis 34275	Bldg 3-Rm 307-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Code Re	ed Fire Prote	ection, In	c.	Cor	mmercial F	Fire & Comm	nunication	ns, Inc.
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
10	Englewood El 150 N McCall Rd Englewood 34223	Bldg 8-Rm 001F-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
11	Facilities Services 7889 Fruitville Rd Sarasota 34240	Bldg 1-Rm 126, Shops- 1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
12	Fruitville EI 601 Honore Ave Sarasota 34232	Bldg 9-Rm 120A-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
13	Garden EI 700 Center Rd Venice 34292	Bldg 1-Rms 150, 151, 152, 155-1 riser Bldg 4-Outside Rm 109, Rm 109D-1 riser	\$45.00	x 2 = riser	\$90.00	x12=	\$1,080.00	\$110.00	x 2 = riser	\$220.00	x12=	\$2,640.00
14	Glenallen El 7050 Glenallen Blvd North Port 34287	Rm 814-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
15	Gocio El 3450 Gocio Rd Sarasota 34235	Bldg 5-Rm 003C, Stage- 1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
16	Gulf Gate EI 6500 S Lockwood Ridge Rd Sarasota 34231	Bldg 1-Rms 187C, 180C -1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
17	Heron Creek Middle 6501 W Price Blvd North Port 34286	Bldg 3-Rm 107-1 riser Bldg 4-Rm 100H-1 riser Bldg 5-Rm 100H-1 riser	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00	\$110.00	x 3 = risers	\$330.00	x12=	\$3,960.00
18	Lamarque El 3415 Lamarque Ave North Port 34286	Bldg 1-Rm 132-3 risers	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00	\$110.00	x 3 = risers	\$330.00	x12=	\$3,960.00
19	Laurel Nokomis 900 E Laurel Rd Nokomis 34275	Bldg 3-Rm 307-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00

includ	de cost for 12 inspections ding monthly, quarterly and FPA 25 Standards.	of Fire Sprinkler Systems, d annual inspections and tests		Dolphir	n Fire Sprink	ders, Inc.			Piper F	ire Protec	tion, Inc	> .
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
10	Englewood El 150 N McCall Rd Englewood 34223	Bldg 8-Rm 001F-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$45.61	x 1 = riser	\$45.61	x12=	\$547.32
11	Facilities Services 7889 Fruitville Rd Sarasota 34240	Bldg 1-Rm 126, Shops- 1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$45.61	x 1 = riser	\$45.61	x12=	\$547.32
12	Fruitville EI 601 Honore Ave Sarasota 34232	Bldg 9-Rm 120A-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$51.36	x 1 = riser	\$51.36	x12=	\$616.32
13	Garden El 700 Center Rd Venice 34292	Bldg 1-Rms 150, 151, 152, 155-1 riser Bldg 4-Outside Rm 109, Rm 109D-1 riser	\$59.00	x 2 = riser	\$118.00	x12=	\$1,416.00	\$22.81	x 2 = riser	\$45.62	x12=	\$547.44
14	Glenallen El 7050 Glenallen Blvd North Port 34287	Rm 814-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$51.75	x 1 = riser	\$51.75	x12=	\$621.00
15	Gocio El 3450 Gocio Rd Sarasota 34235	Bldg 5-Rm 003C, Stage- 1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$42.94	x 1 = riser	\$42.94	x12=	\$515.28
16	Gulf Gate EI 6500 S Lockwood Ridge Rd Sarasota 34231	Bldg 1-Rms 187C, 180C -1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$30.36	x 1 = riser	\$30.36	x12=	\$364.32
17	Heron Creek Middle 6501 W Price Blvd North Port 34286	Bldg 3-Rm 107-1 riser Bldg 4-Rm 100H-1 riser Bldg 5-Rm 100H-1 riser	\$43.00	x 3 = risers	\$129.00	x12=	\$1,548.00	\$19.42	x 3 = risers	\$58.26	x12=	\$699.12
18	Lamarque El 3415 Lamarque Ave North Port 34286	Bldg 1-Rm 132-3 risers	\$43.00	x 3 = risers	\$129.00	x12=	\$1,548.00	\$17.12	x 3 = risers	\$51.36	x12=	\$616.32
19	Laurel Nokomis 900 E Laurel Rd Nokomis 34275	Bldg 3-Rm 307-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$43.31	x 1 = riser	\$43.31	x12=	\$519.72

includ		of Fire Sprinkler Systems, I annual inspections and tests		S	SimplexGrin	nell	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
10	Englewood El 150 N McCall Rd Englewood 34223	Bldg 8-Rm 001F-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
11	Facilities Services 7889 Fruitville Rd Sarasota 34240	Bldg 1-Rm 126, Shops- 1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
12	Fruitville EI 601 Honore Ave Sarasota 34232	Bldg 9-Rm 120A-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
13	Garden EI 700 Center Rd Venice 34292	Bldg 1-Rms 150, 151, 152, 155-1 riser Bldg 4-Outside Rm 109, Rm 109D-1 riser	\$28.50	x 2 = riser	\$57.00	x12=	\$684.00
14	Glenallen El 7050 Glenallen Blvd North Port 34287	Rm 814-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
15	Gocio El 3450 Gocio Rd Sarasota 34235	Bldg 5-Rm 003C, Stage- 1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
16	Gulf Gate El 6500 S Lockwood Ridge Rd Sarasota 34231	Bldg 1-Rms 187C, 180C -1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
17	Heron Creek Middle 6501 W Price Blvd North Port 34286	Bldg 3-Rm 107-1 riser Bldg 4-Rm 100H-1 riser Bldg 5-Rm 100H-1 riser	\$28.50	x 3 = risers	\$85.50	x12=	\$1,026.00
18	Lamarque EI 3415 Lamarque Ave North Port 34286	Bldg 1-Rm 132-3 risers	\$28.50	x 3 = risers	\$85.50	x12=	\$1,026.00
19	Laurel Nokomis 900 E Laurel Rd Nokomis 34275	Bldg 3-Rm 307-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Alert	Fire Sprinkle	ers, Inc.			Allia	ance Fire &	Safety	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
20	McIntosh Middle 701 S McIntosh Rd Sarasota 34232	Rm 519B-4 risers Gym-1 riser	\$96.50	x 5 = risers	\$482.50	x12=	\$5,790.00	\$50.00	x 5 = risers	\$250.00	x12=	\$3,000.00
21	North Port High 6400 W Price Blvd	Bldg 2-Rms 106C, 107A, 207- 3 risers Bldg 3-Rm 118-1 riser Bldg 6-Rm 102B-1 riser	\$96.50	x 8 = risers	\$772.00	x12=	\$11,664.00	\$50.00	x 8 = risers	\$400.00	x12=	\$5,400.00
	North Port 34287	Bldg 7-Rm 119-1 riser Bldg 8-Rm 122-1 riser Bldg 52-Rm 104-1 riser Pump Rm-1 fire pump	\$200.00	x 1 = pump	\$200.00	X12=	\$11,004.00	\$50.00	x 1 = pump	\$50.00	X12=	
22	Oak Park School 7285 Proctor Rd Sarasota 34241	Mech Rm 242-1 riser Mech Rm 243-1 riser Mech Rm 322-1 riser Mech Rm 349-1 riser Mech Rm 431-1 riser	\$96.50	x 5 = risers	\$482.50	x12=	\$5,790.00	\$50.00	x 5 = risers	\$250.00	x12=	\$3,000.00
23	Phillippi Shores EI 4747 S Tamiami Tr Sarasota 34231	Rm 210-2 risers Bldg 1-Rm 411-1 riser Bldg 5-Rm 501-2 risers	\$96.50	x 5 = risers	\$482.50	x12=	\$5,790.00	\$50.00	x 5 = risers	\$250.00	x12=	\$3,000.00
24	Pine View 1 Python Path Osprey 34229	Bldg 8-Rm 801C, Stage- 1 riser Bldg 16-Rm 174H-1 riser	\$96.50	x 2 = risers	\$193.00	x12=	\$2,316.00	\$50.00	x 2 = risers	\$100.00	x12=	\$1,200.00
25	Riverview High 1 Ram Way Sarasota, 34231	Bldg 1-1 riser Bldg 2-1 riser Bldg 3-1 riser Bldg 4-1 riser Bldg 5-3 risers Bldg 6-2 risers Bldg 7-1 riser Bldg 8-1 riser Bldg 9-1 riser	\$96.50	x 12 =	\$1,158.00	x12=	\$13,896.00	\$50.00	x 12 =	\$600.00	x12=	\$7,200.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Aqua	Safe Fire P	otection			Bab	e's Plumbin	ıg, Inc.	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
20	McIntosh Middle 701 S McIntosh Rd Sarasota 34232	Rm 519B-4 risers Gym-1 riser	\$80.00	x 5 = risers	\$400.00	x12=	\$4,800.00	\$20.00	x 5 = risers	\$100.00	x12=	\$1,200.00
21	North Port High 6400 W Price Blvd	Bldg 2-Rms 106C, 107A, 207- 3 risers Bldg 3-Rm 118-1 riser Bldg 6-Rm 102B-1 riser	\$80.00	x 8 = risers	\$640.00	x12= \$9	\$9,480.00	\$22.40	x 8 = risers	\$179.20	x12=	\$2,150.40
	North Port 34287	Bldg 7-Rm 119-1 riser Bldg 8-Rm 122-1 riser Bldg 52-Rm 104-1 riser Pump Rm-1 fire pump	\$150.00	x 1 = pump	\$150.00		Ф9,4 60.00	\$400.00	x 1 = pump	\$400.00	annual cost of pump	\$400.00
22	Oak Park School 7285 Proctor Rd Sarasota 34241	Mech Rm 242-1 riser Mech Rm 243-1 riser Mech Rm 322-1 riser Mech Rm 349-1 riser Mech Rm 431-1 riser	\$80.00	x 5 = risers	\$400.00	x12=	\$4,800.00	\$20.00	x 5 = risers	\$100.00	x12=	\$1,200.00
23	Phillippi Shores El 4747 S Tamiami Tr Sarasota 34231	Rm 210-2 risers Bldg 1-Rm 411-1 riser Bldg 5-Rm 501-2 risers	\$80.00	x 5 = risers	\$400.00	x12=	\$4,800.00	\$20.00	x 5 = risers	\$100.00	x12=	\$1,200.00
24	Pine View 1 Python Path Osprey 34229	Bldg 8-Rm 801C, Stage- 1 riser Bldg 16-Rm 174H-1 riser	\$80.00	x 2 = risers	\$160.00	x12=	\$1,920.00	\$33.33	x 2 = risers	\$66.66	x12=	\$799.92
25	Riverview High 1 Ram Way Sarasota, 34231	Bldg 1-1 riser Bldg 2-1 riser Bldg 3-1 riser Bldg 4-1 riser Bldg 5-3 risers Bldg 6-2 risers Bldg 7-1 riser Bldg 8-1 riser Bldg 9-1 riser	\$80.00	x 12 =	\$960.00	x12=	\$11,520.00	\$20.00	x 12 =	\$240.00	x12=	\$2,880.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Code Re	ed Fire Prote	ection, In	c.	Со	mmercial I	Fire & Comm	nunicatio	ns, Inc.
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
20	McIntosh Middle 701 S McIntosh Rd Sarasota 34232	Rm 519B-4 risers Gym-1 riser	\$40.00	x 5 = risers	\$200.00	x12=	\$2,400.00	\$110.00	x 5 = risers	\$550.00	x12=	\$6,600.00
21	North Port High 6400 W Price Blvd	Bldg 2-Rms 106C, 107A, 207- 3 risers Bldg 3-Rm 118-1 riser Bldg 6-Rm 102B-1 riser	\$40.00	x 8 = risers	\$320.00	x12=	\$4,860.00	\$110.00	x 8 = risers	\$880.00	x12=	\$11,940.00
	North Port 34287	Bldg 7-Rm 119-1 riser Bldg 8-Rm 122-1 riser Bldg 52-Rm 104-1 riser Pump Rm-1 fire pump	\$85.00	x 1 = pump	\$85.00	X12-	φ4,000.00	\$115.00	x 1 = pump	\$115.00	X12-	ψ11,9 4 0.00
22	Oak Park School 7285 Proctor Rd Sarasota 34241	Mech Rm 242-1 riser Mech Rm 243-1 riser Mech Rm 322-1 riser Mech Rm 349-1 riser Mech Rm 431-1 riser	\$40.00	x 5 = risers	\$200.00	x12=	\$2,400.00	\$110.00	x 5 = risers	\$550.00	x12=	\$6,600.00
23	Phillippi Shores EI 4747 S Tamiami Tr Sarasota 34231	Rm 210-2 risers Bldg 1-Rm 411-1 riser Bldg 5-Rm 501-2 risers	\$40.00	x 5 = risers	\$200.00	x12=	\$2,400.00	\$110.00	x 5 = risers	\$550.00	x12=	\$6,600.00
24	Pine View 1 Python Path Osprey 34229	Bldg 8-Rm 801C, Stage- 1 riser Bldg 16-Rm 174H-1 riser	\$45.00	x 2 = risers	\$90.00	x12=	\$1,080.00	\$110.00	x 2 = risers	\$220.00	x12=	\$2,640.00
25	Riverview High 1 Ram Way Sarasota, 34231	Bldg 1-1 riser Bldg 2-1 riser Bldg 3-1 riser Bldg 4-1 riser Bldg 5-3 risers Bldg 6-2 risers Bldg 7-1 riser Bldg 8-1 riser Bldg 9-1 riser	\$54.00	x 12 =	\$648.00	x12=	\$7,776.00	\$110.00	x 12 =	\$1,320.00	x12=	\$15,840.00

includ		of Fire Sprinkler Systems, d annual inspections and tests		Dolphir	n Fire Sprin	klers, Inc.			Piper F	ire Protec	tion, In	c.
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
20	McIntosh Middle 701 S McIntosh Rd Sarasota 34232	Rm 519B-4 risers Gym-1 riser	\$32.00	x 5 = risers	\$160.00	x12=	\$1,920.00	\$15.89	x 5 = risers	\$79.45	x12=	\$953.40
21	North Port High 6400 W Price Blyd	Bldg 2-Rms 106C, 107A, 207- 3 risers Bldg 3-Rm 118-1 riser Bldg 6-Rm 102B-1 riser	\$23.00	x 8 = risers	\$184.00	x12=	\$2,208.00	\$18.21	x 8 = risers	\$145.68	x12=	\$1,948.20
	North Port 34287	Bldg 7-Rm 119-1 riser Bldg 8-Rm 122-1 riser Bldg 52-Rm 104-1 riser Pump Rm-1 fire pump	\$300.00	x 1 = pump	\$300.00	annual cost of pump	\$300.00	\$16.67	x 1 = pump	\$16.67	X12=	\$1,540.20
22	Oak Park School 7285 Proctor Rd Sarasota 34241	Mech Rm 242-1 riser Mech Rm 243-1 riser Mech Rm 322-1 riser Mech Rm 349-1 riser Mech Rm 431-1 riser	\$32.00	x 5 = risers	\$160.00	x12=	\$1,920.00	\$18.01	x 5 = risers	\$90.05	x12=	\$1,080.60
23	Phillippi Shores El 4747 S Tamiami Tr Sarasota 34231	Rm 210-2 risers Bldg 1-Rm 411-1 riser Bldg 5-Rm 501-2 risers	\$32.00	x 5 = risers	\$160.00	x12=	\$1,920.00	\$15.89	x 5 = risers	\$79.45	x12=	\$953.40
24	Pine View 1 Python Path Osprey 34229	Bldg 8-Rm 801C, Stage- 1 riser Bldg 16-Rm 174H-1 riser	\$59.00	x 2 = risers	\$118.00	x12=	\$1,416.00	\$22.50	x 2 = risers	\$45.00	x12=	\$540.00
25	Riverview High 1 Ram Way Sarasota, 34231	Bldg 1-1 riser Bldg 2-1 riser Bldg 3-1 riser Bldg 4-1 riser Bldg 5-3 risers Bldg 6-2 risers Bldg 7-1 riser Bldg 8-1 riser Bldg 9-1 riser	\$19.00	x 12 =	\$228.00	x12=	\$2,736.00	\$9.36	x 12 =	\$112.32	x12=	\$1,347.84

includ		of Fire Sprinkler Systems, d annual inspections and tests		5	SimplexGrin	nell	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
20	McIntosh Middle 701 S McIntosh Rd Sarasota 34232	Rm 519B-4 risers Gym-1 riser	\$28.50	x 5 = risers	\$142.50	x12=	\$1,710.00
21	North Port High 6400 W Price Blvd	Bldg 2-Rms 106C, 107A, 207- 3 risers Bldg 3-Rm 118-1 riser Bldg 6-Rm 102B-1 riser	\$28.50	x 8 = risers	\$228.00	x12=	\$2 964 00
	North Port 34287	Bldg 7-Rm 119-1 riser Bldg 8-Rm 122-1 riser Bldg 52-Rm 104-1 riser Pump Rm-1 fire pump	\$19.00	x 1 = pump	\$19.00	Sub x 12 Annua Cost 142.50 x12= \$1,710. 228.00 x12= \$2,964. 142.50 x12= \$1,710. 142.50 x12= \$1,710. 57.00 x12= \$684.0	Ψ2,904.00
22	Oak Park School 7285 Proctor Rd Sarasota 34241	Mech Rm 242-1 riser Mech Rm 243-1 riser Mech Rm 322-1 riser Mech Rm 349-1 riser Mech Rm 431-1 riser	\$28.50	x 5 = risers	\$142.50	x12=	\$1,710.00
23	Phillippi Shores El 4747 S Tamiami Tr Sarasota 34231	Rm 210-2 risers Bldg 1-Rm 411-1 riser Bldg 5-Rm 501-2 risers	\$28.50	x 5 = risers	\$142.50	x12=	\$1,710.00
24	Pine View 1 Python Path Osprey 34229	Bldg 8-Rm 801C, Stage- 1 riser Bldg 16-Rm 174H-1 riser	\$28.50	x 2 = risers	\$57.00	x12=	\$684.00
25	Riverview High 1 Ram Way Sarasota, 34231	Bldg 1-1 riser Bldg 2-1 riser Bldg 3-1 riser Bldg 4-1 riser Bldg 5-3 risers Bldg 6-2 risers Bldg 7-1 riser Bldg 8-1 riser Bldg 9-1 riser	\$28.50	x 12 =	\$342.00	x12=	\$4,104.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Alert	Fire Sprinkl	ers, Inc.			Allia	ance Fire & S	Safety	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
26	SCTI 4748 Beneva Rd Sarasota 34233	Bldg 85-Outside west wall, back wall-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
27	Sarasota Middle 4826 Ashton Rd Sarasota 34233	Bldg 4-Rm 307, Stage- 1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
28	Southside El 1901 Webber St Sarasota 34239	Bldg 4-Rm 402-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
29	Suncoast Polytech 4650 Beneva Rd Sarasota 34233	Location to be determined- 3 risers	\$96.50	x 3 = risers	\$289.50	x12=	\$3,474.00	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00
30	Tatum Ridge El 4100 Tatum Rd Sarasota 34240	Bldg 1-Rm 156-3 risers	\$96.50	x 3 = risers	\$289.50	x12=	\$3,474.00	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00
31	Taylor Ranch El 2500 Taylor Ranch Tr Venice 34293	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 411-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$96.50	x 5 = risers	\$482.50	x12=	\$5,790.00	\$50.00	x 5 = risers	\$250.00	x12=	\$3,000.00
32	Toledo Blade El 1201 Geranium Ave North Port 34287	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 503-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 710-1 riser	\$96.50	x 5 = risers	\$482.50	x12=	\$5,790.00	\$50.00	x 5 = risers	\$250.00	x12=	\$3,000.00
33	Transportation Dept. 301 Old Venice Rd Osprey 34229	Bldg 1-Rm 114-1 riser Bldg 2-Rm 222-1 riser Bldg 3-Rm 308-1 riser	\$96.50	x 3 = risers	\$289.50	x12=	\$3,474.00	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00
34	Venice EI 150 E Miami Ave Venice 34285	Bldg 1-Rm 514-3 risers	\$96.50	x 3 = risers	\$289.50	x12=	\$3,474.00	\$50.00	x 3 = risers	\$150.00	x12=	\$1,800.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests	ests Aqua Safe Fire Protection						Bab	e's Plumbin	g, Inc.	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
26	SCTI 4748 Beneva Rd Sarasota 34233	Bldg 85-Outside west wall, back wall-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
27	Sarasota Middle 4826 Ashton Rd Sarasota 34233	Bldg 4-Rm 307, Stage- 1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
28	Southside El 1901 Webber St Sarasota 34239	Bldg 4-Rm 402-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
29	Suncoast Polytech 4650 Beneva Rd Sarasota 34233	Location to be determined- 3 risers	\$80.00	x 3 = risers	\$240.00	x12=	\$2,880.00	\$25.00	x 3 = risers	\$75.00	x12=	\$900.00
30	Tatum Ridge EI 4100 Tatum Rd Sarasota 34240	Bldg 1-Rm 156-3 risers	\$80.00	x 3 = risers	\$240.00	x12=	\$2,880.00	\$25.00	x 3 = risers	\$75.00	x12=	\$900.00
31	Taylor Ranch El 2500 Taylor Ranch Tr Venice 34293	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 411-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$80.00	x 5 = risers	\$400.00	x12=	\$4,800.00	\$20.00	x 5 = risers	\$100.00	x12=	\$1,200.00
32	Toledo Blade El 1201 Geranium Ave North Port 34287	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 503-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 710-1 riser	\$80.00	x 5 = risers	\$400.00	x12=	\$4,800.00	\$20.00	x 5 = risers	\$100.00	x12=	\$1,200.00
33	Transportation Dept. 301 Old Venice Rd Osprey 34229	Bldg 1-Rm 114-1 riser Bldg 2-Rm 222-1 riser Bldg 3-Rm 308-1 riser	\$80.00	x 3 = risers	\$240.00	x12=	\$2,880.00	\$25.00	x 3 = risers	\$75.00	x12=	\$900.00
34	Venice El 150 E Miami Ave Venice 34285	Bldg 1-Rm 514-3 risers	\$80.00	x 3 = risers	\$240.00	x12=	\$2,880.00	\$25.00	x 3 = risers	\$75.00	x12=	\$900.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Code Re	ed Fire Prote	ection, In	c.	Cor	mmercial F	Fire & Comm	nunicatio	ns, Inc.
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
26	SCTI 4748 Beneva Rd Sarasota 34233	Bldg 85-Outside west wall, back wall-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
27	Sarasota Middle 4826 Ashton Rd Sarasota 34233	Bldg 4-Rm 307, Stage- 1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
28	Southside El 1901 Webber St Sarasota 34239	Bldg 4-Rm 402-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
29	Suncoast Polytech 4650 Beneva Rd Sarasota 34233	Location to be determined- 3 risers	\$40.00	x 3 = risers	\$120.00	x12=	\$1,440.00	\$110.00	x 3 = risers	\$330.00	x12=	\$3,960.00
30	Tatum Ridge El 4100 Tatum Rd Sarasota 34240	Bldg 1-Rm 156-3 risers	\$40.00	x 3 = risers	\$120.00	x12=	\$1,440.00	\$110.00	x 3 = risers	\$330.00	x12=	\$3,960.00
31	Taylor Ranch El 2500 Taylor Ranch Tr Venice 34293	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 411-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$40.00	x 5 = risers	\$200.00	x12=	\$2,400.00	\$110.00	x 5 = risers	\$550.00	x12=	\$6,600.00
32	Toledo Blade El 1201 Geranium Ave North Port 34287	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 503-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 710-1 riser	\$40.00	x 5 = risers	\$200.00	x12=	\$2,400.00	\$110.00	x 5 = risers	\$550.00	x12=	\$6,600.00
33	Transportation Dept. 301 Old Venice Rd Osprey 34229	Bldg 1-Rm 114-1 riser Bldg 2-Rm 222-1 riser Bldg 3-Rm 308-1 riser	\$40.00	x 3 = risers	\$120.00	x12=	\$1,440.00	\$110.00	x 3 = risers	\$330.00	x12=	\$3,960.00
34	Venice EI 150 E Miami Ave Venice 34285	Bldg 1-Rm 514-3 risers	\$40.00	x 3 = risers	\$120.00	x12=	\$1,440.00	\$110.00	x 3 = risers	\$330.00	x12=	\$3,960.00

includ	•	of Fire Sprinkler Systems, d annual inspections and tests	sts Dolphin Fire Sprinklers, Inc.					Piper Fire Protection, Inc. Cost Per x # of				C.
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
26	SCTI 4748 Beneva Rd Sarasota 34233	Bldg 85-Outside west wall, back wall-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$43.31	x 1 = riser	\$43.31	x12=	\$519.72
27	Sarasota Middle 4826 Ashton Rd Sarasota 34233	Bldg 4-Rm 307, Stage- 1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$42.55	x 1 = riser	\$42.55	x12=	\$510.60
28	Southside El 1901 Webber St Sarasota 34239	Bldg 4-Rm 402-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$41.95	x 1 = riser	\$41.95	x12=	\$503.40
29	Suncoast Polytech 4650 Beneva Rd Sarasota 34233	Location to be determined- 3 risers	\$43.00	x 3 = risers	\$129.00	x12=	\$1,548.00	\$17.69	x 3 = risers	\$53.07	x12=	\$636.84
30	Tatum Ridge El 4100 Tatum Rd Sarasota 34240	Bldg 1-Rm 156-3 risers	\$43.00	x 3 = risers	\$129.00	x12=	\$1,548.00	\$18.27	x 3 = risers	\$54.81	x12=	\$657.72
31	Taylor Ranch El 2500 Taylor Ranch Tr Venice 34293	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 411-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$32.00	x 5 = risers	\$160.00	x12=	\$1,920.00	\$20.24	x 5 = risers	\$101.20	x12=	\$1,214.40
32	Toledo Blade El 1201 Geranium Ave North Port 34287	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 503-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 710-1 riser	\$32.00	x 5 = risers	\$160.00	x12=	\$1,920.00	\$20.24	x 5 = risers	\$101.20	x12=	\$1,214.40
33	Transportation Dept. 301 Old Venice Rd Osprey 34229	Bldg 1-Rm 114-1 riser Bldg 2-Rm 222-1 riser Bldg 3-Rm 308-1 riser	\$43.00	x 3 = risers	\$129.00	x12=	\$1,548.00	\$18.27	x 3 = risers	\$54.81	x12=	\$657.72
34	Venice EI 150 E Miami Ave Venice 34285	Bldg 1-Rm 514-3 risers	\$43.00	x 3 = risers	\$129.00	x12=	\$1,548.00	\$21.33	x 3 = risers	\$63.99	x12=	\$767.88

includ		of Fire Sprinkler Systems, d annual inspections and tests		5	SimplexGrin	nell	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
26	SCTI 4748 Beneva Rd Sarasota 34233	Bldg 85-Outside west wall, back wall-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
27	Sarasota Middle 4826 Ashton Rd Sarasota 34233	Bldg 4-Rm 307, Stage- 1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
28	Southside El 1901 Webber St Sarasota 34239	Bldg 4-Rm 402-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
29	Suncoast Polytech 4650 Beneva Rd Sarasota 34233	Location to be determined- 3 risers	\$28.50	x 3 = risers	\$85.50	x12=	\$1,026.00
30	Tatum Ridge El 4100 Tatum Rd Sarasota 34240	Bldg 1-Rm 156-3 risers	\$28.50	x 3 = risers	\$85.50	x12=	\$1,026.00
31	Taylor Ranch El 2500 Taylor Ranch Tr Venice 34293	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 411-1 riser Bldg 5-Rm 502B-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 707-1 riser	\$28.50	x 5 = risers	\$142.50	x12=	\$1,710.00
32	Toledo Blade El 1201 Geranium Ave North Port 34287	Bldg 2-Rm 208A-1 riser Bldg 4-Rm 414-1 riser Bldg 5-Rm 503-1 riser Bldg 6-Rm 619-1 riser Bldg 7-Rm 710-1 riser	\$28.50	x 5 = risers	\$142.50	x12=	\$1,710.00
33	Transportation Dept. 301 Old Venice Rd Osprey 34229	Bldg 1-Rm 114-1 riser Bldg 2-Rm 222-1 riser Bldg 3-Rm 308-1 riser	\$28.50	x 3 = risers	\$85.50	x12=	\$1,026.00
34	Venice EI 150 E Miami Ave Venice 34285	Bldg 1-Rm 514-3 risers	\$28.50	x 3 = risers	\$85.50	x12=	\$1,026.00

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Alert	Fire Sprinkl	ers, Inc.			Allia	ince Fire &	Safety	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
35	Venice High #1 Indian Ave Venice 34285	Bldg 44-Rm 200F, Stage- 1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
36	Wilkinson El 3400 Wilkinson Rd Sarasota 34231	Bldg 7-Rm 716-1 riser	\$96.50	x 1 = riser	\$96.50	x12=	\$1,158.00	\$50.00	x 1 = riser	\$50.00	x12=	\$600.00
37	Woodland Middle 2700 Panacea Blvd North Port 34289	Bldgs 1&2-01-101C-1 riser Bldg 3-Room 105-1 riser Bldgs 4&5-04-112-2 risers Bldg 6-Gym 115-1 riser Bldg 7-Room 111-1 riser Bldg 8-Room 101-1 riser Bldg 9-Room 101-1 riser	\$96.50	x 8 = risers	\$772.00	x12=	\$9,264.00	\$50.00	x 8 = risers	\$400.00	x12=	\$4,800.00
		1 \$128,706.00									\$65,400.00	
		made corrections to extensions										

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ		of Fire Sprinkler Systems, d annual inspections and tests		Aqua	Safe Fire P	otection			Bab	e's Plumbin	g, Inc.	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
35	Venice High #1 Indian Ave Venice 34285	Bldg 44-Rm 200F, Stage- 1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
36	Wilkinson EI 3400 Wilkinson Rd Sarasota 34231	Bldg 7-Rm 716-1 riser	\$80.00	x 1 = riser	\$80.00	x12=	\$960.00	\$58.33	x 1 = riser	\$58.33	x12=	\$699.96
37	Woodland Middle 2700 Panacea Blvd North Port 34289	Bldgs 1&2-01-101C-1 riser Bldg 3-Room 105-1 riser Bldgs 4&5-04-112-2 risers Bldg 6-Gym 115-1 riser Bldg 7-Room 111-1 riser Bldg 8-Room 101-1 riser Bldg 9-Room 101-1 riser	\$80.00	x 8 = risers	\$640.00	x12=	\$7,680.00	\$20.00	x 8 = risers	\$160.00	x12=	\$1,920.00
		l \$106,320.00									\$36,749.60	
								made co	rrections to	extensio	ns	

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ	-	of Fire Sprinkler Systems, d annual inspections and tests		Code Re	ed Fire Prote	ection, In	c.	Со	mmercial F	Fire & Comm	nunicatio	ns, Inc.
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
35	Venice High #1 Indian Ave Venice 34285	Bldg 44-Rm 200F, Stage- 1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
36	Wilkinson EI 3400 Wilkinson Rd Sarasota 34231	Bldg 7-Rm 716-1 riser	\$70.00	x 1 = riser	\$70.00	x12=	\$840.00	\$110.00	x 1 = riser	\$110.00	x12=	\$1,320.00
37	Woodland Middle 2700 Panacea Blvd North Port 34289	Bldgs 1&2-01-101C-1 riser Bldg 3-Room 105-1 riser Bldgs 4&5-04-112-2 risers Bldg 6-Gym 115-1 riser Bldg 7-Room 111-1 riser Bldg 8-Room 101-1 riser Bldg 9-Room 101-1 riser	\$40.00	x 8 = risers	\$320.00	x12=	\$3,840.00	\$110.00	x 8 = risers	\$880.00	x12=	\$10,560.00
						\$63,816.00					\$144,000.00	

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

includ	de cost for 12 inspections ling monthly, quarterly and FPA 25 Standards.		Dolphir	n Fire Sprin	klers, Inc			Piper F	ire Protec	ction, In	c.	
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
35	Venice High #1 Indian Ave Venice 34285	Bldg 44-Rm 200F, Stage- 1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$48.30	x 1 = riser	\$48.30	x12=	\$579.60
36	Wilkinson El 3400 Wilkinson Rd Sarasota 34231	Bldg 7-Rm 716-1 riser	\$98.00	x 1 = riser	\$98.00	x12=	\$1,176.00	\$30.36	x 1 = riser	\$30.36	x12=	\$364.32
37	Woodland Middle 2700 Panacea Blvd North Port 34289	Bldgs 1&2-01-101C-1 riser Bldg 3-Room 105-1 riser Bldgs 4&5-04-112-2 risers Bldg 6-Gym 115-1 riser Bldg 7-Room 111-1 riser Bldg 8-Room 101-1 riser Bldg 9-Room 101-1 riser	\$23.00	x 8 = risers	\$184.00	x12=	\$2,208.00	\$12.41	x 8 = risers	\$99.28	x12=	\$1,191.36
	Total \$56,412.0											\$27,358.08
	made corrections to extensions											

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

Provide cost for 12 inspections of Fire Sprinkler Systems, including monthly, quarterly and annual inspections and tests per NFPA 25 Standards.		SimplexGrinnell					
Item	Schools / Departments Addresses	Location and Number of Risers and Fire Pumps	Cost Per Riser / Fire Pump	x # of Risers / Fire Pumps	Sub Total	x 12 mths	Annual Cost
35	Venice High #1 Indian Ave Venice 34285	Bldg 44-Rm 200F, Stage- 1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
36	Wilkinson EI 3400 Wilkinson Rd Sarasota 34231	Bldg 7-Rm 716-1 riser	\$28.50	x 1 = riser	\$28.50	x12=	\$342.00
37	Woodland Middle 2700 Panacea Blvd North Port 34289	Bldgs 1&2-01-101C-1 riser Bldg 3-Room 105-1 riser Bldgs 4&5-04-112-2 risers Bldg 6-Gym 115-1 riser Bldg 7-Room 111-1 riser Bldg 8-Room 101-1 riser Bldg 9-Room 101-1 riser	\$28.50	x 8 = risers	\$228.00	x12=	\$2,736.00
Total						\$37,050.00	

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

	Alert Fire Sprinklers, Inc.	Alliance Fire & Safety	Aqua Safe Fire Protection
FIRE HYDRANT ANNUAL INSPECTIONS - The Contractor shall provide all labor, material, and equipment necessary to perform annual inspections of fire hydrants. Inspections shall be in accordance with local authorities having jurisdiction. NFPA 25 standards for fire hydrant inspections, testing, and maintenance shall be followed for the following price.			
Price per hydrant for annual inspection as noted above and in bid specifications.	\$100.00	\$25.00	\$40.00
SERVICE CALLS - Indicate the hourly rate as specified for service calls/repairs outside the scope of the specified inspection/maintenance process. All invoices must be itemized indicating date, work order number, location, and service performed, hours worked (standard and non-standard), materials required, and rental if required.			
Hourly rate for standard hours for service calls/repairs outside the scope of the specified inspection/maintenance process. Monday - Friday, 7:00 a.m. to 5:00 p.m.	\$75.00	\$65.00	\$50.00
Hourly rate for non-standard hours for service calls/repairs outside the scope of the inspection/maintenance process for hours other than regular time. Monday - Friday prior to 7:00 a.m. and after 5:00 p.m., and Saturday and Sunday.	\$85.00	\$95.00	\$75.00
MATERIALS			
Materials for repair to be billed at net cost. Include a percentage allowed for overhead and profit. No markup of sales tax allowed. A copy of the itemized materials invoice from the supplier must be included with all billings to the SBSC.	14%	15%	10%

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

		Babe's Plumbing, Inc.	Code Red Fire Protection, Inc.	Commercial Fire & Communications, Inc.
shall perfo be in NFP	HYDRANT ANNUAL INSPECTIONS - The Contractor provide all labor, material, and equipment necessary to rm annual inspections of fire hydrants. Inspections shall accordance with local authorities having jurisdiction. A 25 standards for fire hydrant inspections, testing, and tenance shall be followed for the following price.			
38	Price per hydrant for annual inspection as noted above and in bid specifications.	\$65.00	\$45.00	\$30.00
servio inspe itemiz servio	VICE CALLS - Indicate the hourly rate as specified for ce calls/repairs outside the scope of the specified ection/maintenance process. All invoices must be zed indicating date, work order number, location, and ce performed, hours worked (standard and non-dard), materials required, and rental if required.			
39	Hourly rate for standard hours for service calls/repairs outside the scope of the specified inspection/maintenance process. Monday - Friday, 7:00 a.m. to 5:00 p.m.	\$65.00	\$85.00	\$65.00
40	Hourly rate for non-standard hours for service calls/repairs outside the scope of the inspection/maintenance process for hours other than regular time. Monday - Friday prior to 7:00 a.m. and after 5:00 p.m., and Saturday and Sunday.	\$97.50	\$127.50	\$97.50
MAT	ERIALS			
41	Materials for repair to be billed at net cost. Include a percentage allowed for overhead and profit. No markup of sales tax allowed. A copy of the itemized materials invoice from the supplier must be included with all billings to the SBSC.	15%	15%	15%

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

	Dolphin Fire Sprinklers, Inc.	Piper Fire Protection, Inc.	SimplexGrinnell
FIRE HYDRANT ANNUAL INSPECTIONS - The Contractor shall provide all labor, material, and equipment necessary to perform annual inspections of fire hydrants. Inspections shall be in accordance with local authorities having jurisdiction. NFPA 25 standards for fire hydrant inspections, testing, and maintenance shall be followed for the following price.			
Price per hydrant for annual inspection as noted above and in bid specifications.	\$40.00	\$65.00	\$50.00
SERVICE CALLS - Indicate the hourly rate as specified for service calls/repairs outside the scope of the specified inspection/maintenance process. All invoices must be itemized indicating date, work order number, location, and service performed, hours worked (standard and nonstandard), materials required, and rental if required.			
Hourly rate for standard hours for service calls/repairs outside the scope of the specified inspection/maintenance process. Monday - Friday, 7:00 a.m. to 5:00 p.m.	\$70.00	\$75.00	\$80.00
40 Hourly rate for non-standard hours for service calls/repairs outside the scope of the inspection/maintenance process for hours other than regular time. Monday - Friday prior to 7:00 a.m. and after 5:00 p.m., and Saturday and Sunday.	\$105.00	\$112.50	\$120.00
MATERIALS			
Materials for repair to be billed at net cost. Include a percentage allowed for overhead and profit. No markup of sales tax allowed. A copy of the itemized materials invoice from the supplier must be included with all billings to the SBSC.	15%	15%	15%

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

	Alert Fire Sprinklers, Inc.	Alliance Fire & Safety	Aqua Safe Fire Protection
RENTAL OF EQUIPMENT			
Special rental equipment may be necessary under extreme circumstances and is to be used only with prior written approval from the Facilities Services representative. Rentals are to be billed at net cost. Include a percentage allowed for overhead and profit. No mark-up of sales tax allowed. A copy of the itemized rental invoice from the supplier must be included with all billings to the SBSC.	10%	15%	10%
Contact Name	Larry Luther	Sean P. Hill	Clint Musick
Address	1603 Barber Road	500 Base Avenue East	4610 North Grady Avenue
	Sarasota, FL 34240	Venice, FL 34285	Tampa, FL 33614
Phone	941-377-3720	941-485-5402	813-874-8100
Fax	941-371-1618	941-483-3321	813-874-8200
Federal ID	650055472	650740101	
E-Mail	larry.l@alertfire.com	sphill@alliancefiresafety.com	cjmusick@msn.com
		I	

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

	Babe's Plumbing, Inc.	Code Red Fire Protection, Inc.	Commercial Fire & Communications, Inc.
RENTAL OF EQUIPMENT			
42 Special rental equipment may be necessary under extreme circumstances and is to be used only with prior written approval from the Facilities Services representative. Rentals are to be billed at net cost. Include a percentage allowed for overhead and profit. No mark-up of sales tax allowed. A copy of the itemized rental invoice from the supplier must be included with all billings to the SBSC.	10%	10%	15%
Contact Name	Joseph P. Dalton	Alan Breitwieser	Larry McDonald
Address	140 East Miami Avenue	7808 Ashley Circle	6510 125th Avenue North
	Venice, FL 34285	Bradenton, FL 34201	Largo, FL 33773
Phone	941-488-6074	941-952-0306	727-530-4521
Fax	941-488-4693	941-351-4482	727-531-0596
Federal ID	591023892	651095917	592021844
E-Mail	joe@babesplumbing.com	coderedfp@verizon.net	larrym@cfcsystems.com

Tabulation for Fire Sprinkler System and Fire Hydrant Inspection and Repair - Bid #0534

	Dolphin Fire Sprinklers, Inc.	Piper Fire Protection, Inc.	SimplexGrinnell
RENTAL OF EQUIPMENT			
42 Special rental equipment may be necessary under extreme circumstances and is to be used only with prior written approval from the Facilities Services representative. Rentals are to be billed at net cost. Include a percentage allowed for overhead and profit. No mark-up of sales tax allowed. A copy of the itemized rental invoice from the supplier must be included with all billings to the SBSC.	15%	15%	15%
Contact Name	Steven M. Lee	Don O'Lone	Daniel Prendes
Address	8237 Blaikie Court	521 Commerce Drive South	4701 Oak Fair Boulevard
	Sarasota, FL 34240	Largo, FL 33770	Tampa, FL 33610
Phone	941-378-9493	727-581-9339	813-626-5482
Fax	941-342-9326	727-581-8332	813-664-1731
Federal ID	592728455	592780461	582608861
E-Mail	steve@dolphinfire sprinklers.com	donolone@piperfire.com	dprendes@simplex grinnell.com
Re	ecorded by: Peggy Long	Witnessed by: Card	ol A. Lichon